
1

6 Cub Pack Drawer
SSAM014

INSTALL TIME: 45 mins

IMPORTANT WARNING!

IT IS CRITICAL THAT ALL FRONT RUNNER PRODUCTS BE PROPERLY AND SECURELY ASSEMBLED AND ATTACHED TO YOUR
VEHICLE. IMPROPER ATTACHMENT COULD RESULT IN AN AUTOMOBILE ACCIDENT, AND COULD CAUSE SERIOUS BODILY
INJURY OR DEATH TO YOU OR TO OTHERS. YOU ARE RESPONSIBLE FOR ASSEMBLING AND SECURING ALL FRONT RUNNER
PRODUCTS TO YOUR VEHICLE, CHECKING THE ATTACHMENTS PRIOR TO USE, AND PERIODICALLY INSPECTING THE
PRODUCTS FOR ADJUSTMENT, WEAR, AND DAMAGE. THEREFORE, YOU MUST READ AND UNDERSTAND ALL OF THE
INSTRUCTIONS AND CAUTIONS SUPPLIED WITH YOUR FRONT RUNNER PRODUCT PRIOR TO INSTALLATION OR USE. IF YOU DO
NOT UNDERSTAND ALL OF THE INSTRUCTIONS AND CAUTIONS, OR IF YOU HAVE NO MECHANICAL EXPERIENCE AND ARE NOT
THOROUGHLY FAMILIAR WITH THE INSTALLATION PROCEDURES, YOU SHOULD HAVE THE PRODUCT INSTALLED BY A
PROFESSIONAL INSTALLER OR OTHER QUALIFIED PERSONNEL.

SSAM014_REV_A00



2

GET ORGANIZED... 
Here is what you are looking at for SSAM014:

   You will need:

10 mm Flat or Socket Wrench

4, 6 and 9mm Drill bits

White Marker / Chalk

Permanent Black Marker

Utility Knife

Tape Measure

Drilling Machine

Clinch Nut Crimping Tool

A Friend

Item # Quantity Description

1 1 DRAWER SYSTEM

2 4 60mm CARABINER

3 6 M6 STUD PLATE

4 4 M8 D-RING

5 4 TURNBUCKLE

6 4 M6 NYLOC HEX NUT

7 4 M6 SPRING WASHER

8 4 M6 CLINCH NUT

9 4 M6X35 HEX BOLT

10 4 M6 WING NUT

11 8 M6X19 FLAT WASHER

12 6 M6 NYLON FLAT WASHER

13 6 M6 EYE NUT

32 4

5

6 7 8 9 10 11 12 13

SSAM014_REV_A00



3

Fit Drawer SYSTEM

( A ) Remove the Rear Jump seats if fitted as per your vehicles owner’s manual.

In the picture to the right, the SUV has Factory

Fitted D-Rings these will be used to secure the

Drawer System. If your vehicle does not have

Factory Fitted D-Rings move on to Step2H which

shows how to install your own fixing points.

( B )

( C ) To check if your vehicle has the appropriate fixing points, place the Drawer System in the vehicle. Make

sure you can close the door or hatch without the Drawer system touching the door or hatch. To prevent this

from happening set the drawer system as deep into the trunk as possible. Close the door or hatch gently.

From the inside of the vehicle, lean over the rear seats and adjust the drawer system so that it is plus minus

2cm away from the door or hatch. Open the back of the vehicle again. Check that the Drawer is centred in

the vehicle using a measuring tape. 

With the Drawer in
position check that the
Factory Fitted  D-rings
are positioned in line
with D-Rings on the
Drawer system as
indicated by the
arrows, and that
nothing will interfere
with the Turn-Buckle.

If you find that your
vehicle does not have
mounting points in the
appropriate positions
move on to Steps2D.

SSAM014_REV_A00



4

Fit Drawer SYSTEM cont...

With the Drawer still in place from Step2C, mark the mounting points with a piece of chalk on the carpet or

a permanent marker on the body work. Note: They should be angled away from each other as shown in

Step2C.

Lift up the Carpet and check that the points you have chosen are not partially on a ridge If they are, move

the point so that when you mount a D-Ring (Item 4) it will be on a flat surface with no immediate

obstructions.

( d )

Open the 4mm pilot hole with a 9mm drill bit. Insert Clinch Nut (Item 8) and crimp. Place a D-Ring
over the holes in the clinch nuts. Use the M6x19 Flat washers and M6 Spring Washers with the
M6x35 Hex Bolts. Secure the D-Rings into place using a 10mm Wrench.

( e ) Another point to keep in mind is, will you be able to access the desired point from underneath the vehicle

(Yes or No)? If Yes move on to Step2F, If No move on to Step2G.

Once you are happy with the positions of the D-Rings Remove the Drawer System from the vehicle. Lift the

carpet up and Drill a 4mm Pilot hole through the floor of the vehicle at each mounting point.

Open the pilot hole with a 6mm drill bit. Place a D-Ring over each hole, then use a M6x14 Flat washer and

M6x35 Hex Bolt to hold in place. Have your Friend hold the Hex Bolts in place while you secure the Hex Bolt

with another M6x19 flat washer and a M6 Nyloc Hex Nut from under the vehicle. Position the D-Rings in line

with the Drawer system's D-Rings. Tighten fully with two 10mm Wrenches.

Lay the carpet back down. Press hard and feel for the D-Ring. Mark the bolt head and the ridge of
the D-Ring just in front of the bolt head. With a Craft Knife cut the carpet on that line. Now push
the D-Ring through the cut.

Place the Drawer System back into the Vehicle as Described in Step2C.

( f )

( g )

( h )

SSAM014_REV_A00



5

Fit Drawer SYSTEM cont...

( i )

Hook a Carabiner (Item 2) onto one of the Drawer

Systems D-Rings then hook the "ring" end of the

Turn-buckle into the Carabiner (Item 5). At this point

you will see how far you need to extend the

Turn-buckle to reach the closest D-Ring on your

vehicle. Once adjusted hook the Turn-buckle onto the

D-Ring and loosely tighten. Repeat this three more

times. With all four points attached tighten the

Turn-buckles. But do not over tighten, as this may

cause the Drawer System to bow out of shape.

( j )

( l ) Congratulations, Take a step back and admire your

handy work. Good Job!

Take the Turn-buckles (Item 5) and loosen the round end of the four Turnbuckles. Screw a M6 Wing Nut

(Item 10) onto each round end. Reassemble the Turn-buckle as shown below.

Check that the drawer opens and closes smoothly without having to force it. If you have to force the
Drawer to close or open, loosen the  Turn-buckles slightly. Check again. If satisfied tighten the Wing Nut
firmly as shown below by the arrow. This will prevent the Turn-buckle from loosening over time.

( k )

SSAM014_REV_A00



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 96
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 96
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


